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Topic 1 Types of Business.

Leaming outcomes:
+ Tobeable to explain the different sectorsof production.
= To explain how the different sectors of productio ae linked together (interdependence]
= To explain how employment and output n the ifferent sectors have changed n recent
yearsinthe UK

Primary Sectorsinvolves growing, extracting o onverting natural resources nto raw materials.
Businesses in the primary sector nclude: ishing, mining, farming and foresty.

‘Secondary Sector:responsible or the manufacturing of goods from raw materials nto progucts for
Sale t customers. Businesses n the secondary sector nclude car manufacturers, furniture
‘manufacturers and electrical appliance manufacturers.

Tertiary Sector: responsible for the provision of 2 service to individuals and businesses. Businesses
within the tertary sector include retaiing, baniing, travel and entertainment

How the three sectors of production ik together?
The process by which a product stats as aw materials, £0es through secondary production and

thenis sold in the tertiary sector is called the chain of production. Ths reveals th interdependence:
of the sectors of production.
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Flow chartsshowing the interdependence of the sectors o producton:

Diamonds are mined “Tress are grown and chopped down
(Primary sector) (Primary sector)

< <

Jewellery manufacturer wil make a diamond ring. | The wood is manufactured nto furniture

(Secondary sector) (secondary sector)
Jewellery shop will sel the ring. “The furniture is sold o customers
(Tertiary sector) (Tertiary sector)

‘Specialisation: when 2 business is in one particular sector, it wiloften specalise in that area. By
concentrating on one activiy, the business can save money by looking at ways of reducing costs n
that ares of work.Eg. oy maker specalises in making toys and leaves the seling of oys to
‘another specialistfirm.
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‘Added value: 5 raw materias primary sector) are then made nto finished goods (secondary sector)
the secondary business s adding value to the original raw material. When the product s then sold,
the tertary sector i adding more value t the product by making it avaiable 1o the customer.
Producers pay value added tax. (VAT) The amount they pay depends partly on the value that they
d and on the rate Of VAT that the government imposes.

Changes in the three sectors of production
How can e measure changes n the sectors?

1. Employment —the number of people employed inthe sector.
2. Output —the volume produced by each sector.

Changes n the primary sector:
Deciine in output and employment as  result of-

* Machinery replacing jobs

= Foreign competition —Britain cannot produce goods 3 cheaply as other countries.
Changes in the secondary sector:
Deciine i output and employment (de-industrilisation) This has been caused by:

 Foreign competition has meant that goods that were one produced in Bitain are now.

produced overseas. This has been a result of heaper manufacturing processes abroad.
= Use of machinery has caused many jobs within the secondary sector to be ost.
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Changes in the tertary sector:

Rise n output and employment as  resultof:
+ Many tertiary sector obs are connected 1o the ise in population e.¢. health care and.
education.
 Risein technology.
. Grester level o importance put on customer service.
 Increase in disposable income (owever tis has been impacted by the recession)]
 Increased availabiy ofcredit.
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Activities

Which sectors do these businesses fall into? Tick the appropriate box.

[ Business Prmary Secondary Tertary

[Eomk

Diamond mine
Telephone centre.

Television
manufacturer

Coal mine.

|
[Car manufacturer
[ship buling

2. Draw the chain of production for a loaf of bread, identifying which stages are primary,
secondary and tertiary.

3. Carlton Press Ltd is a publishing company that specialises in educational books. The disgram
shows the typical stages of production of one of its books.

Using examples from the diagram, explain how primary, secondary and tertiary sector
businesses rely on each other.
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Using examples from the diagram, explain how primary, secondary and tertiary sector
businesses rely on each other.

Timber felling

l

Paper making

I
N

Bookshops schools

4. Working Population - 8y Sector

1968 3008
[[Primary Sector 1000 50

[ Secondary sector 5,000 3000

Tertiary Sector 10000 16000

3) Explain why the changes in employment in the secondary sector may have occurred.
b} Explain why the changes in employment in the tertiary sector may have occurred.




